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निरे्दश (1 – 5) : निम्‍िलिखित‍ जािकारी‍ का‍
ध्‍यािपूर्वक‍ अध्‍ययि‍ करें‍ तथा‍ तद्िुसार‍ प्रश्‍िों‍ के‍
उत्‍तर‍र्दें। 
चौर्दह‍व्‍यक्तत‍र्दो‍समािाांतर‍पांक्ततयों‍में‍बैठे‍हैं‍प्रत्येक‍
पांक्तत‍में‍सात‍सीटें‍हैं। पांक्तत 1 में A, B, C, D, 
E, F और G बैठे‍हैं, इिका‍मुि‍र्दक्षिण‍की‍ओर‍है‍
तथा‍पांक्तत 2 में P, Q, R, S, T, U और V बैठे‍
हैं, इिका‍मुि‍उत्तर‍की‍ओर‍ है‍ (िेककि‍आर्श्‍यक‍
िहीां‍है‍कक‍इसी‍क्रम‍में‍हो)। D और‍र्ह‍व्‍यक्तत‍जो 
U के‍वर्परीत‍बैठा‍है‍के‍बीच‍तीि‍व्यक्तत‍बैठे‍हैं। 
G और D के‍बीच‍चार‍व्यक्तत‍बैठे‍हैं। B और A 
जो F की‍र्दाईं‍ओर‍बैठा‍है के‍बीच‍तीि‍व्यक्तत‍बैठे‍
हैं। E और P एक-र्दसूरे‍के‍वर्परीत‍िहीां‍बैठे‍हैं। र्ह‍
जो G के‍वर्परीत‍बैठा‍है, T से‍तीि‍स्थाि‍आगे‍
बैठता‍है। R और Q के‍बीच‍र्दो‍व्यक्तत‍बैठे‍हैं। F, 
R के‍ वर्परीत‍िहीां‍बैठा‍ है। F पांक्तत‍के‍मध्‍य‍में‍
बैठता‍है। र्ह, जो F के‍वर्परीत‍बैठा‍है, S से‍तीि‍
स्थाि‍आगे‍ बैठता‍ है। U, S स ेचार‍ स्थाि‍आग‍े
बैठता‍है।‍जो T के‍वर्परीत‍बैठा‍है, र्ह C से‍र्दो‍
स्थाि‍आगे‍बैठता‍है। V, P की‍र्दाईं‍ओर‍बैठता‍है। 
 
1. जो‍व्‍यक्तत C के‍वर्परीत‍बैठा‍है‍उसकी‍र्दाईं‍ओर‍
ककतिे‍व्यक्तत‍बैठे‍हैं? 
A. पाांच‍से‍अधिक 
B. तीि 
C. पाांच 
D. चार 
E. नििावररत‍िहीां‍ककया‍जा‍सकता 
 
2. निम्ि‍में‍से‍कौि V के‍वर्कणवि‍वर्परीत‍बैठा‍
है? 
A. र्ह, जो F और A के‍बीच‍में‍बैठा‍है 
B. र्ह, जो‍र्दाहहिे‍छोर‍से‍तीसरे‍स्थाि‍पर‍बैठा‍है 
C. र्ह, जो F की‍र्दाईं‍ओर‍से‍र्दसूरे‍स्थाि‍पर‍बैठा‍
है 
D. र्ह, जो A की‍ठीक‍र्दाईं‍ओर‍बैठा‍है 
E. इिमें‍से‍कोई‍िहीां 
 

3. यहर्द D, T स‍ेसांबांधित‍है‍और C, R से‍सांबांधित‍
है‍तो‍उसी‍प्रकार, S निम्‍ि‍में‍से‍ककससे‍सांबांधित‍
है? 
A. र्ह, जो‍र्दाहहिे‍छोर‍से‍छठे‍स्‍थाि‍पर‍बैठा‍है 
B. र्ह‍जो G के‍बाएां‍से‍चौथे‍स्थाि‍पर‍बैठा‍है 
C. र्ह, जो D से‍तीि‍स्‍थाि‍आगे‍बैठा‍है 
D. र्ह, जो F और E के‍बीच‍में‍बैठा‍है 
E. नििावररत‍िहीां‍ककया‍जा‍सकता 
 
4. वर्षम‍पर्द‍ज्ञात‍करें। 
A. E, R 
B. Q, A 
C. C, S 
D. S, A 
E. R, E 
 
निरे्दश (5 – 7) : िीचे‍र्दी‍गई‍जािकारी‍का‍अध्ययि‍
करें‍और‍इस‍पर‍आिाररत‍प्रश्िों‍के‍उत्तर‍र्दें। 
आठ‍व्यक्तत‍M, N, O, P, Q, R, S और‍T एक‍
ही‍पररर्ार‍से‍सांबांि‍रित‍ेहैं।‍T, S के‍वपता‍हैं।‍Q, 
T की‍माता‍हैं।‍O, T का‍भाई‍है।‍R, O का अांकि‍
हैं।‍P, M की‍बहि‍है।‍M, S के‍र्दार्दा‍हैं।‍R, M 
का‍भाई‍िहीां‍है।‍N, O की‍भाभी‍है। 
 
5. यहर्द‍N का‍एकमात्र‍पुत्र‍है‍और‍एकिौती‍सांताि‍
भी‍है‍, तो‍S से O ककस‍प्रकार‍सांबांधित‍है? 
A. भतीजी 
B. पुत्र 
C. भतीजा 
D. चाचा 
E. भाई 
 
6. P, Q से‍ककस‍प्रकार‍सांबांधित‍है? 
A. भाई 
B. बहि 
C. मााँ 
D. ििर्द‍(लसस्‍टर-इि-िॉ) 
E. पुत्री 
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7. सांख्‍या‍83256479‍में‍पहिे‍और‍पाांचर्े‍अांक‍के‍
स्‍थाि‍आपस‍में‍बर्दि‍र्दें।‍समाि‍प्रकार‍स‍ेर्दसूरे‍और‍
छठर्ें‍अांक‍के‍स्‍थाि‍आपस‍में‍बर्दि‍र्दें‍और‍आग‍े
भी‍ इसी‍ प्रकार‍ अांको‍ के‍ स्‍थाि‍ बर्दित‍े रहें‍ तो‍
व्‍यर्स्‍थापि‍के‍बार्द‍निम्‍िलिखित‍में‍से‍कौि‍र्दाहहिे‍
छोर‍से‍सातर्ें‍अांक‍के‍र्दाहहिे‍तीसरा‍होगा? 
A. 3 
B. 4 
C. 7 
D. 9 
E. इिमें‍से‍कोई‍िहीां 
 
निरे्दश: िीचे‍ र्दी‍ गई‍ जािकारी‍ का‍ ध्‍यािपूर्वक‍
अध्‍ययि‍करें‍तथा‍इसके‍आिार‍पर‍प्रश्‍िों‍के‍उत्‍तर‍
र्दें। 
छह‍िोगों‍P, Q, R, S, T और‍U का‍भार‍अिग-
अिग‍है।‍जो‍र्दसूरे‍स्‍थाि‍पर‍सबसे‍अधिक‍भारी‍है‍
उसका‍र्जि‍72कक.ग्रा.‍है‍और‍जो‍र्दसूरे‍स्‍थाि‍पर‍
सबसे‍हल्‍का‍है‍उसका‍र्जि‍55कक.ग्रा.‍है।‍P, R से‍
भारी‍िेककि‍T से‍हल्‍का‍है।‍Q से‍भारी‍िोगों‍की‍
सांख्‍या, P से‍हल्‍के‍िोगों‍की‍सांख्‍या‍से‍एक‍कम‍है।‍
R सबसे‍ हल्‍का‍ व्‍यक्त‍त‍ िहीां‍ है।‍ T का‍ र्जि‍
69कक.ग्रा.‍है।‍S सबसे‍भारी‍िहीां‍है। 
 
8. P का‍सांभावर्त‍र्जि‍त‍या‍हो‍सकता‍है? 
A. 71कक.ग्रा. 
B. 70कक.ग्रा. 
C. 62कक.ग्रा. 
D. 54कक.ग्रा. 
E. 51कक.ग्रा. 
 
9. ककतिे‍िोगों‍का‍र्जि Q से‍अधिक‍है? 
A. 0 
B. 1 
C. 2 
D. 3 
E. 4 
 

निरे्दश: निम्ि‍जािकारी‍का‍ध्यािपूर्वक‍अध्ययि‍करें‍
और‍हर्दए‍गए‍प्रश्िों‍के‍उत्तर‍र्दें| 
राहुि‍कार‍द्र्ारा‍अपिे‍घर‍से‍अपिे‍ऑकिस‍जाता‍
है।‍र्ह‍बबांर्द‍ुA से‍गाडी‍चिाता‍है| र्ह‍र्दक्षिण‍की‍
ओर‍5 ककमी‍ड्राइर्‍करता‍है‍और‍बबांर्द‍ुB पर‍पहुांचता‍
है, किर‍र्ह‍अपिे‍र्दायें‍मुडता‍है‍और‍4 ककमी‍ड्राइर्‍
करता‍है‍और‍बबांर्द‍ुC पर‍पहुांचता‍है| अब‍र्ह‍अपिे‍
र्दायें‍मुडता‍है‍और‍12 ककमी‍ड्राइर्‍करके‍बबांर्द‍ुD पर‍
पहुाँचता‍है| उसके‍बार्द‍र्ह‍बाएां‍मुडता‍है‍और‍5 ककमी‍
ड्राइर्‍करके‍बबांर्द‍ुE पर‍पहुांचता‍है| अांत‍में‍र्ह‍र्दक्षिण‍
की‍ओर‍7 ककमी‍ड्राइर्‍करता‍है‍और‍अपिे‍ऑकिस‍
तक‍पहुाँचता‍है।  
10. यहर्द राहुि अपिे ऑकिस से पूर्व हर्दशा में 5 
ककमी चिता है, तो र्ह बब ांर्द ुD से ककतिी र्दरू और 
ककस हर्दशा में होगा? 
A. 7 ककमी, र्दक्षिण 
B. 4 ककमी, उत्तर 
C. 1 ककमी, र्दक्षिण 
D. 5 ककमी, उत्तर 
E. इिमें से कोई िहीां 
 
निरे्दश (11 – 15) : र्दोिों‍पाई-चाटों‍को‍ रे्दिें‍और‍
निम्िलिखित‍प्रश्िों‍के‍उत्तर‍र्दें। 
2017 में, 5 ब्ाांड‍-A, B, C, D और‍E द्र्ारा‍केर्ि‍
र्दो‍प्रकार‍-‍लसांथेहटक‍और‍चमडा‍के‍जूता‍का‍निमावण‍
करत‍ेहैं। 
िीचे‍पाई-चाटव‍में‍ हर्दए‍5 ब्ाांडों‍द्र्ारा‍ निलमवत‍जूते‍
(लसांथेहटक‍और‍चमडा)‍का‍प्रनतशत‍हर्दया‍गया‍हैं। 
निलमवत‍लसांथेहटक‍और‍चमडे‍के‍जूत‍ेकी‍कुि‍सांख्या‍
=‍12000 

 
िीचे‍पाई-चाटव‍में‍हर्दए‍5 ब्ाांडों‍द्र्ारा‍निलमवत‍चमडे‍
के‍जूते‍का‍प्रनतशत‍हर्दया‍गया‍हैं। 
निलमवत‍चमडे‍के‍जूत‍ेकी‍कुि‍सांख्या‍=‍4800 
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11. 2017 में, एक‍अन्य‍ब्ाांड‍F िे‍1152 चमडे‍के‍
जूते‍का‍निमावण‍ककया‍और‍यह‍उसके‍द्र्ारा‍निलमवत‍
लसांथेहटक‍जूते‍की‍सांख्या‍से‍20% कम‍है।‍इि‍6 
ब्ाांडों‍द्र्ारा‍निलमवत‍लसांथेहटक‍जूते‍की‍कुि‍सांख्या‍में‍
से, ब्ाांड‍F द्र्ारा‍निलमवत‍लसांथेहटक‍जूते‍का‍प्रनतशत‍
तया‍है? 
A. 20% 

B. 16 % 
C. 12.5% 
D. 10% 
E. इिमें‍से‍कोई‍िहीां 
 
12. ब्ाांडों‍A, D और‍E द्र्ारा‍निलमवत‍लसांथेहटक‍जूते‍
की‍औसत‍सांख्या‍तया‍है? 
A. 1600 
B. 1750 
C. 1800 
D. 2000 
E. इिमें‍से‍कोई‍िहीां 
 
13. र्षव‍ 2018 में, ब्ाांड‍ A द्र्ारा‍ निलमवत‍ जूते‍
(लसांथेहटक‍+‍चमडे)‍की‍कुि‍सांख्या‍वपछिे‍र्षव‍की‍
तुििा‍में‍25% अधिक‍है।‍यहर्द‍र्षव‍2018 में, ब्ाांड‍
A द्र्ारा‍निलमवत‍चमडे‍के‍जूते‍की‍सांख्या‍लसांथेहटक‍
जूते‍की‍तुििा‍में‍876 कम‍है, तो‍र्षव‍2017 और‍
2018 में‍ब्ाांड‍A द्र्ारा‍ निलमवत‍लसांथेहटक‍जूते‍की‍
सांख्या‍का‍अिुपात‍है 
A. 5 : 6 
B. 2 : 3 
C. 4 : 5 

D. 8 : 9 
E. इिमें‍से‍कोई‍िहीां 
 
14. एक‍कॉिेज‍में, 40% छात्र‍छात्रर्वृत्त‍हेतु‍पात्र‍
िहीां‍ हैं। पात्र‍ छात्रों‍ का 48% िडके‍ हैं‍और‍ पात्र‍
िडककयों‍की‍सांख्या 9828 है, तो‍कॉिेज‍में‍छात्रों‍
की‍कुि‍सांख्या‍ज्ञात‍करें। 
A. 24500 
B. 31500 
C. 28900 
D. 32500 
E. इिमें‍से‍कोई‍िहीां 
 
15. पाांच‍साि‍पहिे A की‍आयु B की आयु‍की 
3.2 गुिा‍है। 7 साि‍बार्द A और B की‍आयु‍का‍
अिुपात 20:9 होगा। A और B की‍र्तवमाि‍आयु‍का‍
योग‍ज्ञात‍करें। 
A. 63 र्षव 
B. 73 र्षव 
C. 53 र्षव 
D. 43 र्षव 
E. इिमें‍से‍कोई‍िहीां 
 
16. A, B और C की‍आयु‍का‍योग 106 र्षव‍ है‍
तथा A और B की‍आयु‍का‍योग 78 र्षव‍है। यहर्द 
A की‍आयु 32 र्षव‍है, तो C और B की‍आयु‍का‍
अांतर‍ज्ञात‍करें। 
A. 4 र्षव 
B. 14 र्षव 
C. 18 र्षव 
D. 16 र्षव 
E. इिमें‍से‍कोई‍िहीां 
 
निरे्दश: निम्‍िलिखित‍ जािकारी‍ का‍ ध्‍यािपूर्वक‍
अध्‍ययि‍करें‍तथा‍प्रश्‍िों‍के‍उम्‍त्‍तर‍र्दें। 
तीि‍प्रकार‍के‍पहिा, र्दसूरा और‍तीसरा‍पुरस्‍कार‍के‍
कुि‍30000‍पुरस्‍कारों‍को‍30000‍व्‍यक्ततयों‍(पुरुष‍
और‍महहिाओां)‍में‍वर्तररत‍ककया‍जािा‍है।‍पुरुषों‍की‍
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सांख्‍या‍जो‍र्दसूरा‍पुरस्‍कार‍प्राप्‍त‍करत‍ेहैं‍तथा‍पुरुषों‍
की‍सांख्‍या‍जो‍ तीसरा‍ पुरस्‍कार‍ प्राप्‍त‍करत‍े हैं‍ का‍
अिुपात‍3:8‍है।‍पुरुषों‍और‍महहिाओां‍की‍कुि‍सांख्‍या‍
क्जन्‍होंिे‍ र्दसूरा‍ पुरस्‍कार‍ प्राप्‍त‍ ककया‍ है‍ 7500‍ है।‍
कुि‍13000‍महहिाएां‍हैं‍क्जन्‍होंिे‍र्दसूरा‍और‍तीसरा‍
पुरस्‍कार‍ प्राप्‍त‍ ककया‍ है।‍ व्‍यक्ततयों‍ की‍ सांख्‍या‍
क्जन्‍होंिे‍पहिा‍पुरस्‍कार‍प्राप्‍त‍ककया‍है‍व्‍यक्ततयों‍की‍
सांख्‍या‍क्जन्‍होंिे‍तीसरा‍पुरस्‍कार‍प्राप्‍त‍ककया‍है‍की 
2/5 की‍तुििा‍में‍600‍कम‍है।‍पुरुषों‍और‍महहिाओां‍
की‍कुि‍सांख्‍या‍क्जन्‍होंिे‍र्दसूरा‍पुरस्‍कार‍प्राप्‍त‍ककया‍
है‍7500‍ है।‍एक‍साथ‍पहिा‍और‍र्दसूरा‍पुरस्‍कार‍
प्राप्‍त‍करि‍े र्ािे‍ पुरुषों‍की‍ कुि‍सांख्‍या‍ एक‍साथ‍
पहिा‍ और‍ र्दसूरा‍ पुरस्‍कार‍ प्राप्‍त‍ करि‍े र्ािी‍
महहिाओां‍की‍कुि‍सांख्‍या‍से‍500‍कम‍है। 
 
17. कोई‍भी‍पुरस्कार‍प्राप्त‍करि‍ेर्ािे‍पुरुषों‍की‍
कुि‍सांख्या‍ज्ञात‍करें? 
A. 13500 
B. 12500 
C. 14000 
D. 13000 
E. इिमें‍से‍कोई‍िहीां 
 
18. यहर्द‍पहिे, र्दसूरे और‍तीसरे‍पुरस्‍कार में‍उन्हें 
500 रुपये, 300 रुपये‍और 200 रुपये‍प्राप्‍त‍होते‍
हैं, तो‍पुरुषों‍और‍महहिाओां‍द्र्ारा‍प्राप्त‍कुि‍पुरस्कार‍
रालश‍का‍अांतर‍तया‍है? 
A. 7.50 िाि‍रुपये 
B. 6.15 िाि‍रुपये 
C. 8.05 िाि‍रुपये 
D. 8.15 िाि‍रुपये 
E. इिमें‍से‍कोई‍िहीां 
 
19. एक बॉतस‍में 7 : 11 के‍अिुपात‍में‍कािे‍और‍
िाि‍पेि‍का‍लमश्रण‍है।‍यहर्द‍प्रत्येक‍रांग‍के‍12 पेि‍
को‍निकाि‍लिया‍जाता‍ है, तो‍कािे‍पेि‍का‍िाि‍
पेि‍से‍अिुपात 11 : 19 हो‍जाता‍है।‍प्रारांलभक‍काि‍े
पेि‍की‍सांख्या‍तया‍है? 

A. 56 
B. 64 
C. 48 
D. 72 
E. इिमें से कोई िहीां 
 
20. 3 र्षों‍में r% की‍ र्दर‍से 25,000 रुपये‍ के‍
मूििि‍पर‍अक्जवत‍सािारण‍ब्याज, मूििि‍का x/20 
है, तो‍निम्ि‍में‍से‍कौि‍सा‍सत्य‍है? 
A. यहर्द r = 10 है, तो X = 3 
B. यहर्द r = 15 है, तो X = 9 
C. यहर्द r = 30 है, तो X = 15 
D. यहर्द r = 5 है, तो X = 2 
E. इिमें‍से‍कोई‍िहीां 
 
Direction (21 – 30) : Read the given 
passage carefully and answer the questions 
that follow. Certain words are printed in 
bold to help you locate them while 
answering some of these. 
Scientists don't know why it happens, but 
tales of dolphins befriending humans reach 
far back into history. Aristotle wrote 
offhandedly about dolphins' "passionate 
attachment to boys", as if everyone just 
knew this as a fact. In the year AD 77, 
Pliny the Elder recounted the story of a 
dolphin named Simo who formed a bond 
with a boy who fed him bits of bread, giving 
him rides in return. 
When you consider how risky it is for 
dolphins to spend time in close proximity to 
people, it is all the more intriguing that so 
many human-dolphin stories have similar 
themes: dolphin seeks out man, dolphin 
wants to play with man, dolphin assists 
man, dolphin rescues man. If dolphins didn't 
already have such a well-established 
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reputation for showing up like Superman in 
the third act, it would be impossible to put 
their behaviour into context. But there are 
centuries and even millennia of tales of 
their generosity towards the awkward two-
legged creatures they encounter who are 
so out of their element. 
In the book Beautiful Minds, biologist 
Maddalena Bearzi recalls tailing a pod of 
bottlenoses on one grim, foggy morning 
along the coast of Los Angeles, as they 
herded a huge school of sardines. If there 
is anything that commands a dolphin's 
attention it is a mother lode of fish, so 
Bearzi was surprised when one suddenly 
broke away from feeding and 
_________(A)____________ to sea at top 
speed. The rest of the pod followed; so, 
did Bearzi and her crew. The dolphins 
arrowed about three miles offshore and 
then they stopped, arranging themselves in 
a circle. In the centre, the scientists were 
shocked to see a girl's body floating. 
Tales like this are remarkably common and 
surfers, in particular, seem to benefit from 
dolphin non-interference. When Todd Endris 
was bitten three times by a great white 
shark near Monterey, California, dolphins 
drove off the marauder, formed a ring 
around Endris, and escorted him to the 
beach. Australian Dave Rastovich, 
straddling his board waiting for a wave, was 
astonished to watch a dolphin hurtle itself 
at a shark that was torpedoing towards him, 
sending it fleeing. 
What to make of these stories? One point 
worth noting is that dolphins often behave 
towards us in the same ways they do 

towards one another. In the dolphins' 
nomadic undersea world, solitude equals 
vulnerability, so a lone human in the water 
must seem to them direly in need of 
assistance. But their consideration of us 
isn't limited to emergency situations: at the 
Tangalooma Island Resort in Australia, 
where wild bottlenoses are regularly fed fish 
by people standing in the shallows, 
biologists have documented – on 23 
occasions – the dolphins reciprocating, 
swimming up to offer freshly caught tuna, 
eels, and octopi as gifts. 
In other words, dolphins do not always 
differentiate between us and them. 
Source: 
https://www.independent.co.uk/environment/
nature/dolphins-often-seem-to-want-to-
befriend-us-do-they-know-something-we-
dont-10493809.html 
 
21. Which among the following is TRUE 
according to the passage given above? 
A. Maddalena Bearzi, a biologist, along with 
her crew, remembers tailing a pod of 
bottlenose dolphins on one morning along 
the coast of Mexico. 
B. The dolphins led Maddalena Bearzi and 
her crew to a spot where they discovered 
a floating body of a girl. 
C. Dolphins are scared of humans and they 
hide as soon as they see a human in their 
vicinity. 
D. Both A and C 
E. Both B and C 
 
22. Which among the following is FALSE 
according to the passage given above? 
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A. Tales of dolphins befriending humans 
reach far back into history and even 
scholars such as Aristotle has written about 
it. 
B. The surfers are afraid of the dolphins as 
when a pod of dolphins sees a lonely 
surfer, they attack the surfer immediately to 
protect themselves. 
C. According to the passage, a group of 
dolphins saved Todd Endris from a sting 
ray. 
D. Both A and B 
E. Both B and C 
 
23. Which of the following statement(s) can 
be inferred from the given passage? 
I. The passage states that dolphins 
reciprocate the act of kindness if human 
beings are kind to them. 
II. The passage states that after a lot of 
research, scientists have finally found out 
why dolphins are extremely close with 
humans. 
III. Dolphins are creatures of the wild and 
they might turn wild if they are attacked. 
A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. Both II and III 
 
Direction: In the given question, five words 
are printed in bold and are numbered A, B, 
C, D and E. The position of some 
highlighted words may be incorrect and 
need to be exchanged with another 
highlighted to make the sentence correct. 
Find the words that need to be exchanged. 

In case the given sentence is correct, your 
answer is (E) i.e No exchange required.  
24. The path (A) to receiving (B) the 
consular access, which should have been 
bitterly (C) provided shortly (D) after the 
arrest of Kulbhushan Jadhav, had to be 
technically (E) fought for by India. 
A. A-D 
B. A-B and C-D 
C. C-E 
D. B-C 
E. No exchange required. 
 
Direction: In the given question, five words 
are printed in bold and are numbered A, B, 
C, D and E. The position of some 
highlighted words may be incorrect and 
need to be exchanged with another 
highlighted to make the sentence correct. 
Find the words that need to be exchanged. 
In case the given sentence is correct, your 
answer is (E) i.e No exchange required.  
25. The FIR against a journalist who called 
(A) attention to the reeks (B) mid-day meal 
that was being (C) provided to children in 
a school in Mirzapur, substandard (D) of 
official high-handedness (E). 
A. D-E 
B. C-D 
C. B-D 
D. A-D 
E. No exchange required. 
 
Direction: In the given question, five words 
are printed in bold and are numbered A, B, 
C, D and E. The position of some 
highlighted words may be incorrect and 
need to be exchanged with another 
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highlighted to make the sentence correct. 
Find the words that need to be exchanged. 
In case the given sentence is correct, your 
answer is (E) i.e No exchange required.  
26. There seems to be no motives (A) so 
far to negligence (B) that the journalist and 
the panchayat representative had evidence 
(C) other than exposing (D) the suggest (E) 
of the school officials. 
A. B-E and A-C 
B. A-D 
C. C-B 
D. D-E 
E. No exchange required. 
 
Direction: A sentence with a blank is given, 
indicating that something has been omitted. 
Choose the word that can be filled in the 
blank to make the sentence grammatically 
correct and meaningful. 
 
27. ________ can get the better of people 
who otherwise are very calm-mannered 
individuals. 
A. Plunge 
B. Descend 
C. Anxiety 
D. Apathy 
E. Natural 
 
Direction: A sentence with a blank is given, 
indicating that something has been omitted. 
Choose the word that can be filled in the 
blank to make the sentence grammatically 
correct and meaningful.  
28. An art expert will evaluate the painting 
before it is placed in the museum to make 
sure it is not a ______________. 

A. Ledge 
B. Counterfeit 
C. Plead 
D. Seldom 
E. Infrequently 
 
Direction: A sentence with a blank is given, 
indicating that something has been omitted. 
Choose the word that can be filled in the 
blank to make the sentence grammatically 
correct and meaningful.  
29. As Rajan just purchased a new 
Cadillac, he was ____ to have a valet park 
it. 
A. Reluctant 
B. Redolent 
C. Aromatic 
D. Tangled 
E. Chaotic 
 
Direction: Given below are three 
statements, of which some may be 
incorrect. Identify the correct statement(s).  
30. I. The mosquito larvae grow by 
consuming microorganisms that decompose 
decaying plant material as algae and 
microbes. 
II. Mosquito larvae grow by consuming 
microorganisms such as algae and 
microbes that decompose decaying plant 
material. 
III. Decomposing of decaying plant material 
that is consuming microorganisms such as 
algae and microbes are main source of 
food for mosquito larvae. 
A. Only I 
B. Only II 
C. Only III 
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D. Both I and II 
E. All of these 
 
Direction: Given below are three 
statements, of which some may be 
incorrect. Identify the correct statement(s).  
31. I. According to the Gandharan Buddhist 
manuscripts, the origins of Mahayana 
Buddhism is not what are leading scholars 
to rethink. 
II. If the Gandharan Buddhist manuscripts 
are to be believe, then the scholars might 
had to rethink about the origins of 
Mahayana Buddhism. 
III. The Gandharan Buddhist manuscripts 
are leading scholars to rethink the origins 
of Mahayana Buddhism. 
A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. All of these 
 
निरे्दश (32 – 41) : िीचे‍ हर्दए‍ गए‍ गिाांश‍ को‍
ध्यािपर्ूवक‍पह़िए‍और‍उस‍पर‍आिाररत‍प्रश्िों‍ के‍
उत्तर‍र्दीक्जए। 
महात्मा‍गााँिी‍की‍यह‍अटूट‍िारणा‍थी‍कक‍राज्य‍की‍
प्रकृनत‍ सैनिक, पुलिस, जेि, न्यायािय‍ तथा‍ कर‍
र्सि‍ करि‍े र्ािे‍ और‍ िौकरशाह‍ की‍ है।‍ राज्य‍
केन्रीकृत, तरीके‍से‍और‍सांगहठत‍रूप‍से‍हहांसा‍का‍
प्रनतनिधित्र्‍करता‍है।‍व्यक्तत‍के‍पास‍तो‍आत्मा‍है‍
ककन्तु‍राज्य‍एक‍आत्मवर्हीि‍मशीि‍की‍तरह‍ है।‍
यह‍अपिे‍को‍हहांसा‍से‍अिग‍िहीां‍कर‍पाता‍तयोंकक‍
इसकी‍बुनियार्द‍ही‍हहांसा‍पर‍आिाररत‍है। 
र्ास्तर्‍में‍गाांिी‍के‍राज्य‍का‍प्रकृनत‍तथा‍सांगठि‍
सम्बन्िी‍ वर्चारों‍ पर‍ि‍ केर्ि‍भारतीय‍ स्र्तन्त्रता‍
सांग्राम‍के‍र्दार्दाभाई‍िौरोजी, रािाडे‍तथा‍गोििे‍जैस‍े
िरम‍ र्दिीय‍ और‍ बािगांगािर‍ नतिक‍ एर्ां‍ िािा‍

िाजपत‍राय‍सरीि‍ेगरमर्दिीय‍तथा‍अरवर्न्र्द‍जैसे‍
कट्टर‍राष्ट्रर्ाहर्दयों‍का‍अलमट‍प्रभार्‍था, बक्ल्क‍उिके‍
धचन्ति‍पर‍पक्श्चमी‍यूरोपीय, बब्हटश, फ्रें च, अमेररका‍
तथा‍ग्राक‍वर्चारिाराओां‍का‍स्पष्ट्ट‍छाप‍हर्दिाई‍पडती‍
है।‍गााँिी‍के‍राज्य‍की‍प्रकृनत‍एर्ां‍सांगठि‍में‍सभी‍
सभ्यताओां, सांस्कृनतयों‍ र्‍ वर्चारिाराओां‍ के‍अभीष्ट्ट‍
ििणों‍ का‍ सुव्यर्क्स्थत‍ समार्ेश‍ तथा‍ सक्म्मश्रण‍
लमिता‍है।‍गााँिी‍की‍मान्यता‍इस‍बात‍पर‍आिाररत‍
थी‍ कक‍ उिके‍ स्र्प्िों‍ का‍आर्दशव‍ राज्य‍ उि‍ सभी‍
प्राचीि‍तथा‍र्तवमाि‍व्यर्स्थाओां‍से‍अधिक‍सुगम्य, 
सुसांस्कृत‍तथा‍शे्रष्ट्टतम‍हो‍कक‍उन्होंिे‍अपिे‍आर्दशव‍
राज्य‍की‍अर्िारणा‍में‍उि‍सभी‍तत्त्र्ों‍को‍अांगीकार‍
ककया, क्जन्हें‍र्े‍उपयुतत‍समझते‍थे‍और‍उि‍सबकी‍
नतिाांजलि‍र्दी।‍ क्जन्हें‍ र्े‍अिुधचत‍तथा‍अन्यायपूणव‍
माित‍ेथे।  
महात्मा‍गााँिी‍िे‍हहन्र्द‍स्र्राज, आत्मकथा‍तथा‍अन्य‍
पुस्तकों‍में, उस‍आर्दशव‍राज्य‍का‍आांलशकरूप‍से‍र्णवि‍
ककया‍है‍क्जसकी‍स्थापिा‍का‍उद्रे्दश्य‍उन्होंिे‍अपिे‍
सामिे‍रिा‍था।‍र्ास्तर्‍में‍गााँिी‍एक‍ऐसा‍राज्य‍
चाहत‍े थे‍ जो‍ सर्वप्रभुत्र्सम्पन्ि, सांघात्मक‍ तथा‍
िमवनिरपेि‍हो।‍उिके‍अिुसार‍व्यक्तत‍पर‍राज्य‍का‍
प्रभार्‍ हानिकारक‍ है‍ उन्हें‍ यह‍ भय‍ था‍ कक‍ राज्य‍
मिुष्ट्य‍ के‍ हहतों‍ के‍ सांरिक‍ के‍ िाम‍ पर‍ उसके‍
अधिकारों‍को‍ रद्र्द‍कर‍ रे्दगा।‍ ऐसे‍ वर्रोिाभास‍की‍
क्स्थनत‍में‍व्यक्तत‍का‍राज्य‍से‍अिगार्‍हो‍जाएगा‍
जो‍ कक‍ उिके‍अिुसार‍ एक‍भयार्ह‍ क्स्थनत‍ होगी।‍
महात्मा‍गााँिी‍िे‍स्र्ीकार‍ककया‍है‍कक‍राज्य‍का‍यह‍
र्दार्ा‍ कक‍ र्ह‍ जिता‍ की‍ सरे्ा‍ करता‍ है, बबल्कुि‍
निरािार‍है, जबकक‍यह‍स्पष्ट्ट‍है‍राज्य‍द्र्ारा‍अच्छा‍
करि‍ेके‍स्थाि‍पर‍शोषण‍अधिक‍ककया‍जाता‍ है।‍
राज्य‍र्ास्तर्‍में‍इस‍प्रकक्रया‍के‍अन्तगवत‍मािर्ता‍
को‍ सर्ावधिक‍ हानि‍ पहुाँचाता‍ है‍ कई‍ वर्द्र्ािों‍ के‍
अिुसार‍ गााँिी‍ एक‍ र्दाशवनिक‍ अराजकतार्ार्दी‍ थे‍
तयोंकक‍उिकी‍मान्यता‍थी‍कक‍सभी‍व्यक्ततयों‍का‍
सर्ावधिक‍हहत‍र्गववर्हीि‍राज्यवर्हीि‍प्रजातांत्र‍में‍ही‍
सम्भर्‍है।‍गााँिी‍के‍राज्य‍की‍अर्िारणा‍में‍एक‍गााँर्‍
स्र्ैक्च्छक‍रूप‍में‍सांघ‍होगा‍क्जसमें‍कोई‍सेिा, पुलिस, 
जेि, न्यायािय, वर्शाि‍िगर‍तथा‍बडे‍उद्योग-िन्िे‍
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िहीां‍ होंगे।‍ सत्ता‍ का‍ कोई‍ केन्रीकरण‍ िहीां‍ होगा।‍
जीर्ि‍सार्दा‍और‍सभ्यता‍ रे्दहाती‍होगी।‍इस‍प्रकार‍
ग्राम‍पूणवत:‍आत्मनिभवर‍तथा‍स्र्ायत्तशासी‍होगे, तभी‍
र्ास्तवर्क‍स्र्राज‍की‍प्राक्प्त‍होगी।‍इसके‍अन्तगवत‍
एक‍पुलिस‍र्दि‍होगा‍ककन्तु‍उसकी‍आस्था‍सांहहता‍
में‍होगी।‍जेि‍सुिार‍गहृ‍की‍तरह‍कायव‍करेंगे।‍गााँिी‍
जी‍का‍राज्य‍एक‍अहहांसक‍जिताक्न्त्रक‍राज्य‍होगा।‍
जहााँ‍ प्रत्येक‍ व्यक्तत‍स्र्यां‍अपिा‍शासक‍होगा।‍र्‍े
अपिे‍ समाजर्ार्दी‍ राज्य‍ में‍ आधथवक‍ समािता‍ के‍
पििर‍थे।‍आधथवक‍समािता‍से‍अलभप्राय‍है‍िाि‍ेके‍
लिए‍पयावप्त‍और‍सन्तुलित‍भोजि, रहिे‍ के‍ लिए‍
उधचत‍मकाि‍और‍शरीर‍ढकिे‍के‍लिए‍पयावप्त‍िार्दी।‍
र्े‍यह‍आशा‍करत‍ेथे‍कक‍उिके‍स्र्प्िों‍के‍अहहांसक‍
प्रजाताक्न्त्रक‍ राज्य‍ में‍ िागररक‍ ईमािर्दार, निभीक‍
और‍आत्मािुशालसत‍होंगे। 
महात्मा‍गााँिी‍यथाथवर्ार्दी‍थे, र्ह‍यह‍समझ‍सके‍कक‍
एक‍राज्यहीि‍और‍र्गवहीि‍समाज‍सहज‍तरीके‍से‍
प्राप्त‍िहीां‍ककया‍जा‍सकता।‍एक‍सरकार‍चूाँकक‍सभी‍
िोगों‍ का‍ प्रनतनिधित्र्‍ करती‍ है, अत:‍ र्ह‍ पूणवत:‍
अहहांसक‍िहीां‍हो‍सकती।‍उन्होंिे‍कहा‍था‍“आज‍मैं‍
ऐसे‍स्र्णवयुग‍की‍कल्पिा‍िहीां‍कर‍सकता, ककन्तु‍में‍
प्रिाित:‍अहहांसक‍समाज‍की‍सम्भार्िा‍में‍अर्श्य‍
वर्श्र्ास‍करता‍हूाँ।"  
32. गााँिी‍जी‍अिुसार‍राज्यों‍की‍बुनियार्द‍ककस‍पर‍
आिाररत‍है? 
A. हहांसा‍पर‍आिाररत‍है 
B. अहहांसा‍पर‍आिाररत‍है 
C. सांरिण‍पर‍आिाररत‍है 
D. स्र्राज्य‍पर‍आिाररत‍है 
E. इिमें‍से‍कोई‍िहीां 
 
33.उपयुवतत‍गद्याांश‍के‍अिुसार, आधथवक‍समािता‍
के‍लिए‍सत्य‍है‍- 
1.िाि‍ेके‍लिए‍पयावप्त‍भोजि‍हो 
2.शरीर‍ढकि‍ेके‍लिए‍पयावप्त‍िार्दी 
3.रहिे‍के‍लिए‍उधचत‍मकाि‍हो 
A. 1 और‍2 
B. 2 और‍3 

C. 1 और‍3 
D. 1,2 और‍3 
E. इिमें‍से‍कोई‍िहीां 
 
34.महात्मा‍गााँिी‍के‍राज्य‍की‍प्रकृनत‍तथा‍सांगठि‍
सम्बन्िी‍वर्चारों‍के‍सम्बन्ि‍में‍सत्य‍कथि‍है? 
A. अमेररका‍तथा‍ग्रीक‍वर्चारिाराओां‍की‍स्पष्ट्ट‍छाप‍
हर्दिाई‍पडती‍है। 
B. िािा‍िाजपत‍राय‍जैस‍ेकट्टर‍राष्ट्रर्ाहर्दयों‍का‍
अलमट‍प्रभार्‍था। 
C. र्दार्दाभाई‍ िौरोजी‍ जैस‍े गरम‍ र्दिीय‍का‍अलमट‍
प्रभार्‍था। 
D. अरवर्न्र्द‍घोष‍जैसे िरम‍र्दिीय‍का‍अलमट‍प्रभार्‍
था। 
E. इिमें‍से‍कोई‍िहीां 
 
35. 4. गाांिी‍जी‍के‍अिुसार, र्ास्तवर्क‍'स्र्राज' की‍
प्राक्प्त‍कब‍हो‍सकती‍है? 
1. जब‍ ग्राम‍ पूणवत:‍आत्मनिभवर‍ एर्ां‍ स्र्ायत्तशासी‍
होंगे। 
2. जीर्ि‍सार्दा‍और‍सभ्यता‍शहरी‍होगी। 
3. सत्ता‍का‍कोई‍केन्रीकरण‍िहीां‍होगा। 
कूट‍का‍प्रयोग‍करत‍ेहुए‍सही‍उत्तर‍का‍चयि‍करें 
A. 1,2 एर्ां‍3 
B. केर्ि‍1 
C. केर्ि‍2 
D. 1 एर्ां‍3 
E. 1 एर्ां‍2 
 
36.  गााँिी‍ जी‍ द्र्ारा‍ पुस्तकों‍ में‍ र्खणवत‍ 'आर्दशव‍
राज्य' की‍स्थापिा‍का‍उद्रे्दश्य‍तया‍था? 
1. इसमें‍सत्ता‍का‍कोई‍केन्रीकरण‍िहीां‍होगा। 
2. सर्व‍प्रभुत्र्‍सम्पन्ि, सांघात्मक‍तथा‍िमव‍निरपेि‍
राज्य। 
3. अहहांसक‍जिताक्न्त्रक‍राज्य‍जहााँ‍प्रत्येक‍व्यक्तत‍
स्र्यां‍अपिा‍शासक‍होगा। 
A. 2 एर्ां‍3 
B. 1 एर्ां‍2 
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C. 1 एर्ां‍3 
D. 1, 2 एर्ां‍3 
E. इिमें‍से‍कोई‍िहीां 
 
37. गद्याांश‍ के‍ अिुसार, व्यक्तत‍ का‍ राज्य‍ से‍
अिगार्‍जैसी‍भयार्ह‍क्स्थनत‍कब‍उत्पन्ि‍हो‍सकती‍
है? 
A. जब‍राज्य‍मिुष्ट्य‍के‍हहतों‍के‍सांरिक‍के‍िाम‍
पर‍उसके‍अधिकारों‍को‍रद्र्द‍कर‍रे्दगा 
B. जब‍राज्य‍मिुष्ट्य‍के‍हहतों‍के‍सांरिक‍के‍िाम‍
पर‍उसके‍अधिकारों‍को‍महत्त्र्‍रे्दगा 
C. राज्य‍का‍यह‍र्दार्ा‍कक‍र्ह‍जिता‍की‍सेर्ा‍करता‍
है 
D. उपयुवतत‍सभी 
E. इिमें‍से‍कोई‍िहीां 
 
38. महात्मा‍ गााँिी‍ के‍ अिुसार, ककस‍ प्रकार‍ का‍
समाज‍सहज‍तरीके‍स‍ेप्राप्त‍िहीां‍ककया‍जा‍सकता? 
A. ईमािर्दार‍और‍निभीक‍समाज 
B. आत्मािुशालसत‍और‍िमवनिरपेि‍समाज 
C. राज्यहीि‍और‍र्गवहीि‍समाज 
D. अहहांसक‍और केन्रीकृत‍समाज 
E. इिमें‍से‍कोई‍िहीां 
 
39. उपयुवतत‍गद्याांश‍के‍अिुसार, गद्याांश‍में‍‘जड’‍
शब्र्द‍का‍वर्पयावयर्ाची‍शब्र्द‍बताइए। 
A. सरि 
B. मू़ि 
C. पत्ती 
D. कााँटा 
E. चेति 
 
40. पररच्छेर्द‍को‍ध्यािपूर्वक‍प़िकर‍यह‍बताइए‍कक‍
श्रीमनत‍जी‍ककस‍तरह‍जीर्ि‍जी‍रहीां‍हैं? 
A. कष्ट्टप्रर्द 
B. सुिी 
C. शाांनतपूणव 
D. वर्कराि 

E. चैिभरा 
 
41. उपयुवतत‍गद्याांश‍के‍अिुसार, कौि‍से‍तीि‍तत्र्ों‍
की‍बात‍की‍गइव‍है? 
A) रहिा 
B) सहिा 
C) कहिा 
D) मिािा 
A. केर्ि A 
B. A और B 
C. A, B और C 
D. केर्ि C 
E. इिमें‍से‍सभी 
 
42. निम्‍ि‍ में‍ से‍ ककस‍ हर्दि‍ वर्श्‍र्‍ पयवटि‍ हर्दर्स‍
(डब्‍ल्‍यूटीडी)‍मिाया‍जाता‍है ? 
A. 10 जुिाई 
B. 10 मई 
C. 27 लसतम्‍बर 
D. 25 लसतम्‍बर 
E. इिमें‍से‍कोई‍िहीां 
 
43. निम्िलिखित‍ में‍ से‍ ककस‍ शहर‍ िे‍ 2019 में‍
सबसे‍ बडे‍ अांतरावष्ट्रीय‍ योग‍ हर्दर्स‍ कायवक्रम‍ की‍
मेजबािी‍की? 
A. पटिा 
B. अहमर्दाबार्द 
C. कोिकाता 
D. राांची 
E. मुम्‍बई 
 
44. ग्िोबि‍पीस‍इांडेतस 2019 में‍भारत‍की‍रैंक‍
तया‍है? 
A. 145 
B. 141 
C. 100 
D. 102 
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E. उपरोत‍त‍में‍से‍कोई‍िहीां/उपरोत‍त‍में‍स‍ेएक‍स‍े
अधिक 
 
45. एडीबी‍(एलशयाई‍वर्कास‍बैंक)‍का‍मुख्यािय‍कहाां‍
है? 
A. मिीिा, कििीपीांस 
B. र्ॉलशांगटि, यूएसए 
C. मैिहट्टि, यूएसए 
D. क्जिेर्ा, क्स्र्टजरिैंड 
E. शांघाई, चीि 
 
46. तर्दोबा‍ अांिारी‍ टाइगर‍ ररजर्व‍ भारत‍ के‍ ककस‍
राज्य‍में‍क्स्थत‍है? 
A. केरि 
B. महाराष्ट्‍र 
C. हररयाणा 
D. मध्‍य‍प्ररे्दश 
E. इिमें‍से‍कोई‍िहीां 
 
47. पयावर्रण, र्ि‍और‍जिर्ायु‍पररर्तवि‍मांत्री‍कौि‍
हैं? 
A. डॉ.‍हषवर्िवि 
B. प्रकाश‍जार्डेकर 
C. स्मनृत‍ईरािी 
D. प्रहिार्द‍जोशी 
E. िरेन्र‍लसांह‍तोमर 
 
48. ग्िोबि‍पीस‍इांडेतस‍2019 की‍ररपोटव‍इांस्टीट्यूट‍
िॉर‍इकोिॉलमतस‍एांड‍पीस‍द्र्ारा‍प्रकालशत‍की‍गई‍
है।‍ इांस्टीट्यूट‍ िॉर‍ इकोिॉलमतस‍ एांड‍ पीस‍ का‍
मुख्यािय‍_____ में‍है। 
A. न्‍यूयॉकव , यू.एस.ए 
B. लसडिी, ऑस्‍रेलिया 
C. बलिवि, जमविी 
D. पेररस, फ्राांस 
E. कोिोग्‍िी, क्स्र्ट्जरिैंड 
 

49. ‘र्द‍ऑडैलसटी‍ऑि‍ होप‍ ’‍ िामक‍ पुस्तक‍ के‍
िेिक‍कौि‍हैं‍? 
A. ियितारा‍सहगि 
B. अरवर्न्र्द‍अडडगा 
C. वर्क्रम‍सेठ 
D. बराक‍ओबामा 
E. Hilary Clinton 
 
50. भारतीय‍प्रनतभूनत‍और‍वर्निमय‍बोडव‍ (SEBI) 
के‍िए‍अध्यि‍कौि‍बि?े 
A. T.S. वर्जयि 
B. सांजय‍लमश्रा 
C. वर्क्रम‍लिमये 
D. अजय‍त्यागी 
E. U.K. लसन्हा 
 
51. भारत‍िे‍निम्ि‍में‍से‍ककस‍शहर‍में‍गहठया‍स‍े
पीडडत‍ हाधथयों‍ के‍ लिए‍ अपिा‍ पहिा‍ वर्शेष‍
हाइड्रोथेरेपी‍उपचार‍कें र‍िोिा‍है? 
A. मथुरा 
B. हैर्दराबार्द 
C. कोक्च्च 
D. गुर्ाहाटी 
E. लशिाांग 
 
52. कां प्यूटर‍िेटर्कव ‍में‍एक‍फायरर्ॉि‍तया‍है? 
A. कां प्यूटर‍िेटर्कव ‍एक‍ऑपरेहटांग‍लसस्टम 
B. िेटर्कव ‍का‍शारीररक‍सीमा 
C. एक‍र्ेब‍ब्ाउक् ांग‍सॉफ्टर्येर 
D. अिधिकृत‍उपयोग‍को‍रोकिे‍के‍लिए‍बिाया‍गया‍
एक‍प्रणािी 
E. इिमें‍से‍कोई‍िहीां 
 
53.  निम्ि में से कौि सा ब्ॉडबैंड इांटरिेट किेतशि 
का एक प्रकार िहीां है? 
A. केबि 
B. डीएसएि 
C. डायि-अप 
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D. सैटेिाइट 
E. इिमे से कोई िहीां। 
 
54. एतसेि में, यह एक प्रीररकाडड वक िामूविा है जो 
जहटि गणिाओां के लिए शाटवकट प्रर्दाि करता है। 
A. र्ैल्यू 
B. डाटा सीररज 
C. िां तशि 
D. िील्ड 
E. इिमें से कोई िहीां 
 
55. ______पोटव‍ वर्शेष‍ प्रकार‍ के‍ र्ाद्य‍यांत्रों‍को‍
साउांड‍काडव‍से‍जोडती‍है। 
A. BUS 
B. CPU 
C. USB 
D. MIDI 
E. MINI 
 
56. एक compiler हाई िेर्ि िैंग्र्ेज में लिि ेगए 
प्रोग्राम को __________ में अिुर्ाहर्दत करता है| 
A. मशीि िैंग्र्ेज 
B. एल्गोररथ्म 
C. एक डीबग्ड प्रोग्राम 
D. जार्ा 
E. इिमें से कोई िहीां 
 
57. इमेि प्रणािी में एक ड्राफ्ट िोल्डर उपिब्ि 
करािे के उद्रे्दश्य तया है ? 
A. अप्रेवषत ईमेि को सेर् करिा 
B. स्पैम इमेि को सांचय करिा 
C. प्रेवषत इमेि की प्रनत सेर् करिा 
D. डडिीट इमेि को सांचय करिा 
E. इिमें से कोई िहीां 
 

58. ______ इांटरिेट‍डोमेि‍और‍होस्ट‍के‍िाम‍को‍
आई.पी‍एडे्रस‍में‍अिुर्ाहर्दत‍करता‍है। 
A. िाइि‍रान्सिर‍प्रोटोकॉि 
B. डी.एि.एस 
C. िेटर्कव ‍टाइम‍प्रोटोकॉि 
D. इन्टरिेट‍ररिे‍चैट 
E. इिमें‍से‍कोई‍िहीां 
 
59. PROM का पूणव रूप तया है? 
A. Programmable Read Only Memory 
B. Progressive Read Only Memory 
C. periodic Read Only Memory 
D. Perfect Read Only Memory 
E. Program Read-Only Memory 
 
60. वर्शेष‍रूप‍से‍डडजाइि‍ककया‍हुआ‍कम्‍प्‍यूटर‍है‍
जो‍अत्‍यांत‍जहटि‍गणिा‍को‍भी‍बहुत‍तेजी‍से‍करता‍
है। 
A. सर्वर 
B. सुपरकम्‍प्‍यूटर 
C. िैपटॉप 
D. मैिफे्रम 
E. इिमें‍से‍कोई‍िहीां 
 
61. अष्ट्टक‍अांक‍प्रणािी‍का‍आिार‍तया‍है? 
A. 8 
B. 16 
C. 32 
D. 64 
E. इिमें‍से‍कोई‍िहीां 
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###ANSWERS### 

 

1. Ans. D.  

1) F sits in the middle of the row. 

2) The one, who is sitting opposite to F, 

sits three places away from S. 

3) U sits four places away from S. 

4) Three persons are sitting between D 

and the one, who is sitting opposite to U. 

5) Four persons are sitting between G and 

D. 

 
6) The one, who is sitting opposite to G, 

sits three places away from T. 

7) Two persons are sitting between R and 

Q. 

8) F is not sitting opposite to R. 

9) The one, who is sitting opposite to T, 

sits two places away from C. 

10) V sits to the right of P. 

11) Three persons are sitting between B 

and A, which is sitting to the right of F. 

12) E and P are not sitting opposite to 

each other. 

(Here, case 1 will be eliminated) 

 

Therefore, option D is the correct answer. 

2. Ans. C.  

1) F sits in the middle of the row. 

2) The one, who is sitting opposite to F, 

sits three places away from S. 

3) U sits four places away from S. 

4) Three persons are sitting between D 

and the one, who is sitting opposite to U. 

5) Four persons are sitting between G and 

D. 

 
6) The one, who is sitting opposite to G, 

sits three places away from T. 

7) Two persons are sitting between R and 

Q. 

8) F is not sitting opposite to R. 

9) The one, who is sitting opposite to T, 

sits two places away from C. 

10) V sits to the right of P. 

11) Three persons are sitting between B 

and A, which is sitting to the right of F. 

12) E and P are not sitting opposite to 

each other. 

(Here, case 1 will be eliminated) 
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Therefore, option C is the correct answer. 

3. Ans. D.  

1) F sits in the middle of the row. 

2) The one, who is sitting opposite to F, 

sits three places away from S. 

3) U sits four places away from S. 

4) Three persons are sitting between D 

and the one, who is sitting opposite to U. 

5) Four persons are sitting between G and 

D. 

 
6) The one, who is sitting opposite to G, 

sits three places away from T. 

7) Two persons are sitting between R and 

Q. 

8) F is not sitting opposite to R. 

9) The one, who is sitting opposite to T, 

sits two places away from C. 

10) V sits to the right of P. 

11) Three persons are sitting between B 

and A, which is sitting to the right of F. 

12) E and P are not sitting opposite to 

each other. 

(Here, case 1 will be eliminated) 

 
Therefore, option D is the correct answer. 

4. Ans. D.  

1) F sits in the middle of the row. 

2) The one, who is sitting opposite to F, 

sits three places away from S. 

3) U sits four places away from S. 

4) Three persons are sitting between D 

and the one, who is sitting opposite to U. 

5) Four persons are sitting between G and 

D. 

 
6) The one, who is sitting opposite to G, 

sits three places away from T. 

7) Two persons are sitting between R and 

Q. 

8) F is not sitting opposite to R. 

9) The one, who is sitting opposite to T, 

sits two places away from C. 

10) V sits to the right of P. 

11) Three persons are sitting between B 

and A, which is sitting to the right of F. 

12) E and P are not sitting opposite to 

each other. 

(Here, case 1 will be eliminated) 
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Therefore, option D is the correct answer. 

5. Ans. C.  

It means S is a male then S is nephew of 

O. 

Hence, option C. 

T is father of S. Q is mother of T. M is 

grandfather of S. P is sister of M. Q is 

mother of T so Q is wife of M. O is brother 

of T. R is uncle of O. R is not brother of M 

so R is brother of Q. N is sister-in-law of 

O so N is wife of T. 

 
6. Ans. D.  

P is sister-in-law of Q. 

Hence, option D. 

T is father of S. Q is mother of T. M is 

grandfather of S. P is sister of M. Q is 

mother of T so Q is wife of M. O is brother 

of T. R is uncle of O. R is not brother of M 

so R is brother of Q. N is sister-in-law of 

O so N is wife of T. 

 
7. Ans. E.  

The new number formed after 

rearrangement is 6 4 7 9 8 3 2 5 

The seventh digit from the right end is 4. 

The third digit to the right of 4 is 8. 

8. Ans. C.  

P’s weight must be in the range of 55-69 

then P’s weight is 62 kg. 

Hence, option C. 

The one who is 2nd heaviest is 72kg and 

the one who is 2nd lightest is 55kg. T is 

69kg. It means at least two persons are 

heavier than T. P is heavier to R but 

lighter to T. R is not the lightest person. 

It means, 

__>72>T(69)>P>R(55)>__ 

The number of person is heavier to Q is 

same as lighter to P. Two persons are 

lighter to P then Q is 72 kg. S is not the 

heaviest then U is the heaviest and S is 

the lightest. 

Here is the final arrangement- 

U>Q(72)>T(69)>P>R(55)>S 

9. Ans. B.  

One person is heavier to Q. 

Hence, option B. 

The one who is 2nd heaviest is 72kg and 

the one who is 2nd lightest is 55kg. T is 

69kg. It means at least two persons are 

heavier than T. P is heavier to R but 

lighter to T. R is not the lightest person. 

It means, 

__>72>T(69)>P>R(55)>__ 

The number of person is heavier to Q is 

same as lighter to P. Two persons are 

lighter to P then Q is 72 kg. S is not the 

heaviest then U is the heaviest and S is 

the lightest. 

Here is the final arrangement- 

U>Q(72)>T(69)>P>R(55)>S 

10. Ans. A.  

If Rahul goes 5km to the east from the 

office, than he will be in 7 km at South 

direction from point D.  

 
11. Ans. B.  

 
Total number of synthetic shoes 

manufactured by given 5 brands = 12000 

– 4800 = 7200 
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Total number of synthetic shoes 

manufactured by brand F =  × 100 = 

1440 

Hence, the required percentage = 

 × 100 = 16 %. 

12. Ans. C.  

 
Total number of shoes (synthetic + 

leather) manufactured by brands A, D 

and E together = (28 + 18 + 25)% of 

12000 = 8520 

Total number of leather shoes 

manufactured by brands A, D and E 

together = (23 + 12 + 30)% of 4800 = 

3120 

So, total number of synthetic shoes 

manufactured by brands A, D and E 

together = 8520 – 3120 = 5400 

Hence, the required average =  = 

1800. 

13. Ans. D.  

 
Total number of shoes (synthetic + 

leather) manufactured by brand A in 

2017 = 28% of 12000 = 3360 

Total number of leather shoes 

manufactured by brand A in 2017 = 23% 

of 4800 = 1104 

Total number of synthetic shoes 

manufactured by brand A in 2017 = 3360 

– 1104 = 2256 

Total number of shoes (synthetic + 

leather) manufactured by brand A in 

2018 = 3360 + 25% of 3360 = 4200 

Total number of synthetic shoes 

manufactured by brand A in 2018 = 

 = 2538 

Hence, the required ratio = 2256 : 2538 

= 8 : 9. 

14. Ans. B.  

Let the total number of students in the 

college = 100x, then 

Total number of eligible students = 100x 

– 40x = 60x 

According to question 

60x – 48% of 60x = 9828 

⇒ 60x – 28.8x = 9828 

⇒ 31.2x = 9828 

⇒ x = 315 

Hence, the total number of students in 

the college = 100x = 31500. 

15. Ans. B.  

Let P be the present years, then 

A : B at (P – 5) years = 16 : 5 (16 = 3.2 

× 5) 

A : B at (P + 7) years: 20 : 9  

According to question 

20 – 16 = 9 – 5 → (7 + 5) years 

⇒ 4 → 12 years 

⇒ 1 → 3 years 

5 years ago, sum of ages of A and B = 

(16 + 5) × 3 = 21 × 3 years = 63 years 

Hence, sum of present ages of A and B = 

63 + (5 + 5) = 73 years 

16. Ans. C.  

Given, A + B + C = 106 years 

A + B = 78 years 

⇒ C = 106 – 78 = 28 years 

⇒ B = (A + B) – A = 78 – 32 = 46 years 

Hence, the difference of ages of C and B 

= B – C = 46 – 28 = 18 years 

17. Ans. A.  

Total number of males and females, who 

received the 2nd prize is 7500. So, total 

number of males and females, who 

received the 1st and 3rd prize = 30000 – 

7500 = 22500 

Let the 5x persons received the 3rd prize 

As number of persons, who received the 

1st prize are 600 less than the 2/5th of the 

number of persons, who received the 3rd 

prize, then 

22500 – 5x = × 5x – 600 

Ã 7x = 23100 

Ã x = 3300 

Number of persons, who received the 3rd 

prize = 5x = 16500 

Number of persons, who received the 1st 

prize = 22500 – 5x = 22500 – 16500 = 

6000 
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Ratio of number of males, who received 

2nd prize and number of males, who 

received 3rd prize is 3 : 8 and total 13000 

females, who received the 2nd and 3rd 

prize 

So, let the number of males, who 

received 2nd prize = 3a and number of 

males, who received 3rd prize = 8a 

(3a + 8a) + 13000 = 7500 + 16500 

Ã 11a = 24000 – 13000 = 11000 

Ã a = 1000 

So, number of males, who received 2nd 

prize = 3a = 3000 and number of 

females, who received 2nd prize = 7500 – 

3000 = 4500 

Number of males, who received 3rd prize 

= 8a = 8000 and number of females, who 

received 3rd prize = 16500 – 8000 = 8500 

Let number of males and females, who 

received 1st prize be m and f respectively 

Given, total number males received the 

1st and 2nd prize together is 500 less than 

the total number females received the 1st 

and 2nd prize together. 

(f + 4500) – 500 = (m + 3000) 

Ã f – m = 1000 ….. (i) 

We have already calculated that 

Ã f + m = 6000 ….. (ii) 

On solving equations (i) and (ii), we get 

f = 3500 and m = 2500 

 
Required number of males = 2500 + 

3000 + 8000 = 13500. 

18. Ans. C.  

Total number of males and females, who 

received the 2nd prize is 7500. So, total 

number of males and females, who 

received the 1st and 3rd prize = 30000 – 

7500 = 22500 

Let the 5x persons received the 3rd prize 

As number of persons, who received the 

1st prize are 600 less than the 2/5th of the 

number of persons, who received the 3rd 

prize, then 

22500 – 5x = × 5x – 600 

Ã 7x = 23100 

Ã x = 3300 

Number of persons, who received the 3rd 

prize = 5x = 16500 

Number of persons, who received the 1st 

prize = 22500 – 5x = 22500 – 16500 = 

6000 

Ratio of number of males, who received 

2nd prize and number of males, who 

received 3rd prize is 3 : 8 and total 13000 

females, who received the 2nd and 3rd 

prize 

So, let the number of males, who 

received 2nd prize = 3a and number of 

males, who received 3rd prize = 8a 

(3a + 8a) + 13000 = 7500 + 16500 

Ã 11a = 24000 – 13000 = 11000 

Ã a = 1000 

So, number of males, who received 2nd 

prize = 3a = 3000 and number of 

females, who received 2nd prize = 7500 – 

3000 = 4500 

Number of males, who received 3rd prize 

= 8a = 8000 and number of females, who 

received 3rd prize = 16500 – 8000 = 8500 

Let number of males and females, who 

received 1st prize be m and f respectively 

Given, total number males received the 

1st and 2nd prize together is 500 less than 

the total number females received the 1st 

and 2nd prize together. 

(f + 4500) – 500 = (m + 3000) 

Ã f – m = 1000 ….. (i) 

We have already calculated that 

Ã f + m = 6000 ….. (ii) 

On solving equations (i) and (ii), we get 

f = 3500 and m = 2500 

 
Required difference = (3500 – 2500) × 

500 + (4500 – 3000) × 300 – (8500 – 

8000) × 200 = 500000 + 450000 – 

100000 = Rs. 8,05,000 = Rs. 8.05 lakh. 

19. Ans. A.  

Let initial black and red pens be 7k and 

11k respectively. 
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Initial black pen = 7k = 56 

20. Ans. B.  

SI =  

 of 25000 =  

⇒ x =  

Only option B will satisfy the above 

condition. 

21. Ans. B.  

The passage states that: “Maddalena 

Bearzi recalls tailing a pod of bottlenoses 

on one grim, foggy morning along the 

coast of Los Angeles.” Thus, option A is 

false. 

However, these herd of dolphins led 

Maddalena to “The dolphins arrowed 

about three miles offshore and then they 

stopped, arranging themselves in a circle. 

In the centre, the scientists were shocked 

to see a girl's body floating.” Thus, option 

B is true. 

The passage is about human and dolphin 

interaction throughout history. Thus, 

option C is obviously false. 

Thus, option B is the correct answer. 

22. Ans. E.  

The passage in the beginning states that: 

“but tales of dolphins befriending humans 

reach far back into history. Aristotle 

wrote offhandedly about dolphins' 

"passionate attachment to boys". Thus, 

this makes option A true. 

Option B is false as surfers tend to benefit 

from the camaraderie they share with the 

dolphins. The passage states that there 

have been scenarios when the dolphins 

have saved surfers from shark attacks. 

Option C is false as well because 

according to the passage, Todd Endris 

was attacked by a great white shark and 

not a sting ray. Thus, this is false as well. 

Thus, option E is the correct answer. 

23. Ans. A.  

The first statement is proved in the 

passage. The passage states, “where wild 

bottlenoses are regularly fed fish by 

people standing in the shallows, 

biologists have documented – on 23 

occasions – the dolphins reciprocating, 

swimming up to offer freshly caught tuna, 

eels, and octopi as gifts.” Thus, this can 

be inferred from the passage. 

The second statement, is however, not 

true. The passage in the very beginning 

clearly states that scientists haven’t 

found why dolphins are so amicable and 

friendly towards humans. Thus, this 

statement can’t be inferred from the 

passage. 

The third sentence can’t be inferred 

because throughout the passage, there 

are no instances where the dolphins have 

attacked human beings. Thus, statement 

I is the only statement which can be 

inferred, and Option A is the correct 

answer. 

24. Ans. C.  

 

The word ‘bitterly’ should come before 

‘fought’ to make the statement 

contextually meaningful. The phrase 

'bitterly fought' means to argue very 

angrily or fight very fiercely. 

And the term 'technically' means 'strictly'. 

Thus, the process should have been 

strictly followed.  

 

Words C and E need to be interchanged 

in order to make the statement 

grammatically correct and contextually 

meaningful. Hence option C is the correct 

answer. 

25. Ans. C.  

 

In the given statement, we need an 

adjective before ‘mid-day meal’ where as 

‘reeks’ is a verb. In order to make the 

statement contextually meaningful and 

grammatically correct, B and D need to 

be exchanged. 

The sentence is about an FIR being filed 

against a journalist who complained of 

the bad quality of food being given to 

kids. ‘Substandard’ can be used to 

describe the quality of the meal and the 

fact that an FIR was filed against him for 
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exemplifies the arrogant behaviour on 

part of those who filed it. 

High handedness is a noun which means 

condescending behaviour. Hence, option 

C is the correct answer. 

26. Ans. A.  

The statement here explains that there is 

no evidence to suggest the motive of 

journalist and panchayat representative 

other than negligence. 

The word B needs to be a verb to make 

the sentence correct. The word 'to' 

indicates that the verb must be in base 

form. Thus, the word 'suggest' fits there 

perfectly. Words B and E need to be 

exchanged. 

Motive means 'a reason to do something'. 

'Evidence' means proof. To make the 

sentence contextually correct, A and C 

needs to be exchanged. As there was no 

evidence which could explain the motive. 

 

So, in order to make the statement 

contextually meaningful, B-E and A-C 

need to be interchanged. Hence, option A 

is the correct answer. 

27. Ans. C.  

The meanings of the following words are: 

Plunge: jump or dive quickly and 

energetically 

Descend: move or fall downwards 

Apathy: lack of interest, enthusiasm, or 

concern 

Anxiety: a feeling of worry, nervousness, 

or unease about something with an 

uncertain outcome. 

Natural: existing in or derived from 

nature 

The statement talks about a situation 

which can make calm people at unease. 

Thus, option C is the correct answer. 

28. Ans. B.  

The meanings of the following words: 

Ledge: a narrow horizontal surface 

projecting from a wall, cliff, or other 

surfaces 

Plead: make an emotional appeal. 

Seldom: not common 

Infrequently: not often 

Counterfeit: made in exact imitation of 

something valuable with the intention to 

deceive or defraud 

 

Now, a painting can be a counterfeit one. 

Thus, option B is the correct answer. 

29. Ans. A.  

The meanings of the following words are: 

Redolent - strongly reminiscent or 

suggestive of 

Aromatic - having a pleasant and 

distinctive smell 

Tangled - twisted together untidily 

 

Reluctant – unwilling and hesitant, 

disinclined 

Chaotic- in a state of complete confusion 

and disorder 

 

Since the car was new and costly, Rajan 

was hesitant to give it to the valet for 

parking. Thus, option A is the correct 

answer. 

30. Ans. B.  

Only sentence II is correct. The reasons 

are as follows: 

I: 'as' is used in comparisons to refer to 

the extent or degree of something. But 

"decaying plant material" can indicate a 

wide range of plans. Algae and microbes 

do not fall in this range, and cannot be 

compared. So, sentence I is wrong. 

III: Sentence III uses "decomposing of 

decaying plant material" as a subject. 

This is subject, which is a process, is said 

to consume the microorganism. This is 

not possible as decomposing means 

breaking down of materials, not 

consuming. So, sentence III is wrong. 

Hence, the correct answer is B. 

31. Ans. C.  

Only sentence III is correct. The reasons 

are as follows: 

I: "origins" is in plural form. So, its 

auxiliary verb (is) should also be in plural 

form (are). Also, one subject (origins) 

cannot have two simultaneous auxiliary 

verbs (is, are). So, sentence I is wrong. 

II: 'be' is followed by the past participle 

form of the verb (believed). 'Might' shows 

possibly in future and is followed by 

'have'. So, option II is wrong. 

Hence, the correct answer is C. 

32. Ans. A.  

उपयुवतत‍गद्याांश‍के‍अिुसार, राज्य‍केन्रीकृत‍तरीके‍
से‍और‍सांगहठत‍रूप‍से‍हहांसा‍का‍प्रनतनिधित्र्‍करता‍
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है।‍व्यक्तत‍के‍पास‍तो‍आत्मा‍है।‍ककन्तु‍राज्य‍एक‍
आत्मवर्हीि‍मशीि‍की‍तरह‍है।‍यह‍अपिे‍को‍हहांसा‍
से‍अिग‍िहीां‍कर‍पाता‍तयोंकक‍इसकी‍बुनियार्द‍ही‍
हहांसा‍पर‍आिाररत‍है। 
33. Ans. D.  

उपयुवतत‍गद्याांश‍के‍अिुसार, हर्दये‍गए‍वर्कल्पों‍में‍
d वर्कल्प‍सही‍है।‍आधथवक‍समािता‍से‍अलभप्राय‍है‍
िाि‍ेके‍लिए‍पयावप्त‍और‍सन्तुलित‍भोजि, रहिे‍के‍
लिए‍उधचत‍मकाि‍और‍शरीर‍ढकि‍ेके‍लिए‍पयावप्त‍
िार्दी। 
34. Ans. A.  

हर्दए‍ गए‍गद्याांश‍ के‍अिुसार, गाांिी‍ के‍ राज्य‍का‍
प्रकृनत‍तथा‍सांगठि‍सम्बन्िी‍वर्चारों‍पर‍ि‍केर्ि‍
भारतीय‍स्र्तन्त्रता‍सांग्राम‍के र्दार्दाभाई‍िौरोजी, रािाड‍े
तथा‍गोििे‍जैसे‍िरम‍र्दिीय और‍बािगांगािर‍नतिक‍
एर्ां िािा‍ िाजपत‍ राय‍ सरीिे‍ गरमर्दिीय तथा 
अरवर्न्र्द‍जैसे‍कट्टर‍राष्ट्रर्ाहर्दयों का‍अलमट‍प्रभार्‍
था, बक्ल्क उिके‍ धचन्ति‍ पर‍ पक्श्चमी‍ यूरोपीय, 

बब्हटश, फ्रें च, अमेररका‍तथा‍ग्राक‍वर्चारिाराओां‍का‍
स्पष्ट्ट‍छाप‍हर्दिाई‍पडती‍है। 
35. Ans. D.  

वर्कल्प‍c सही‍है‍-‍सत्ता‍का‍कोई‍केन्रीकरण‍िहीां‍
होगा।‍जीर्ि‍सार्दा‍और‍सभ्यता‍रे्दहाती‍होगी।‍इस‍
प्रकार‍ ग्राम‍ पूणवत:‍ आत्मनिभवर‍ तथा‍ स्र्ायत्तशासी‍
होगे, तभी‍र्ास्तवर्क‍स्र्राज‍की‍प्राक्प्त‍होगी। 
36. Ans. D.  

गााँिी‍जी‍के‍आर्दशव‍राज्य‍की‍स्थापिा‍का‍उद्रे्दश्य‍
हर्दए‍ गए‍ कथिों‍ स‍े सम्बक्न्ित‍ था, इसीलिए‍ सही‍
उत्तर‍वर्कल्प‍'d' है। 
37. Ans. A.  

गद्याांश‍स‍ेयह‍स्पष्ट्ट‍ककया‍गया‍ है‍ कक‍गााँिी‍जी‍
को‍भय‍था‍कक‍राज्य‍मिुष्ट्य‍के‍हहतों‍के‍सांरिक‍के‍
िाम‍पर‍जब‍उसके‍अधिकारों‍को‍रद्र्द‍करेगा, तब‍
व्यक्तत‍का‍राज्य‍से‍अिगार्‍हो‍जाएगा। 
38. Ans. C.  

उपयुतत‍गद्याांश‍में‍महात्मा‍गााँिी‍यथाथवर्ार्दी‍थे, र्ह‍
यह‍ समझ‍ सके‍ कक‍ एक‍ राज्यहीि‍ और‍ र्गवहीि‍
समाज‍सहज‍तरीके‍से‍प्राप्त‍िहीां‍ककया‍जा‍सकता। 
39. Ans. E.  

हर्दए‍ वर्कल्पों‍ में‍ वर्कल्प‍ (5) जड‍ शब्र्द‍ का‍
वर्पयावयर्ाची‍या‍वर्िोमाथवक‍है।‍अन्य‍शब्र्द- 

 
40. Ans. A.  

उपयुवतत‍पररच्छेर्द‍के‍अिुसार, श्रीमनत‍जी‍की‍जीर्ि‍
कष्ट्टप्रर्द‍ अथावत‍् कष्ट्टर्दायक‍ क्जांर्दगी‍ जी‍ रही‍ थी, 
तयोंकक‍इस‍गद्याांश‍में‍श्रीमनत‍और‍मास्टर‍जी‍में‍
कािी‍िोकझोक‍का‍पररदृश्य‍का‍समार्ेश‍है। 
41. Ans. C.  

उपयुवतत‍गद्याांश‍में‍रहिा, सहिा‍और‍कहिा‍जैस‍े
तत्र्ों‍की‍बात‍की‍गइव‍है।‍अत:‍वर्कल्प‍(3) होगा। 
42. Ans. C.  

The World Tourism Day (WTD) is being 

observed annually on 27th September to 

raise awareness about the importance of 

tourism. 

43. Ans. D.  

The main event of International Day of 

Yoga 2019 celebrations was held at 

Prabhat Tara in Ranchi (Jharkhand) on 

21st June 2019. 

This year International Yoga Day of 21st 

June of Ranchi would be eco-friendly and 

hence Khadi Yoga Mat would be used, in 

place of the usual rubber mat. 

On 11th December in 2014, the United 

Nations General Assembly declared June 

21st as the International Day of Yoga. 

2019 Theme: Yoga for Climate Action 

44. Ans. B.  

Australian think tank Institute for 

Economics & Peace has released the 

Global Peace Index (GPI) 2019. The 

report revealed that since 2008 global 

peacefulness has deteriorated by 3.78 

per cent. India's ranking in the index has 

slipped five places to 141 among 163 

countries. 

Iceland remains the most peaceful 

country in the world, a position it has held 

since 2008. It is joined by New Zealand, 

Austria, Portugal, and Denmark. 
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Afghanistan is now the least peaceful 

country in the world, replacing Syria, 

which is now the second least peaceful. 

South Sudan, Yemen, and Iraq comprise 

the remaining five least peaceful 

countries. 

In South Asia, Bhutan topped the index 

with 15th rank, followed by Sri Lanka 72, 

Nepal 76 and Bangladesh 101. 

Pakistan has been ranked 153rd in the 

index. 

Countries with the highest risk of 

multiple climate hazards - China, 

Japan, India, Philippines, Myanmar, 

Vietnam, Indonesia, Pakistan and 

Bangladesh (total 9 countries) 

Countries with the largest total 

military expenditure – US, China, 

India, Russia and Saudi Arabia. 

45. Ans. A.  

The headquarter of ADB (Asian 

Development Bank) is in Manila, 

Philippines. 

• The Asian Development Bank (ADB) is 

a regional development bank established 

on 19 December 1966. 

• The company also maintains 31 field 

offices around the world to promote social 

and economic development in Asia. 

• The motive of the ADB is to ‘Fighting 

poverty in Asia and the Pacific’. 

46. Ans. B.  

Tadoba Andhari Tiger Reserve is a 

tiger reserve in Chandrapur district of 

Maharashtra state in central India. 

Note:- It is notable as Maharashtra's 

oldest and largest national park. 

47. Ans. B.  

• Prakash Javadekar is currently serving 

as the Minister of Environment, Forest 

and Climate Change and Minister of 

Information and Broadcasting. 

• He assumed the office on 31st May 

2019. 

• He was elected to the upper house 

Rajya Sabha as a Member of Parliament 

from Maharashtra in 2008, and re-elected 

from Madhya Pradesh in 2014. 

48. Ans. B.  

• This is the thirteenth edition of the 

Global Peace Index (GPI), which ranks 

163 independent states and territories 

according to their level of peacefulness. 

• Produced by the Institute for Economics 

and Peace (IEP), the GPI is the world’s 

leading measure of global peacefulness. 

This report presents the most 

comprehensive data-driven analysis to 

date on peace, its economic value, 

trends, and how to develop peaceful 

societies. 

• Institute for Economics & Peace (IEP) 

headquarter located in Sydney, Australia.  

49. Ans. D.  

The book ‘The Audacity of Hope’ has been 

written by Barack Obama 

50. Ans. D.  

The Govt. of India recently appointed 

Ajay Tyagi, additional secretary in the 

finance ministry, as the new chairman of 

Securities and Exchange Board of India 

(SEBI). He has taken over charge from 

U.K. Sinha. 

51. Ans. A.  

India has opened its first specialized 

hydrotherapy treatment for elephants 

suffering from arthritis, joint pain and 

foot ailments near the Wildlife SOS’ 

Elephant Conservation and Care Centre 

(ECCC), which currently houses 20 

rescued elephants and is run in 

collaboration with the Uttar Pradesh 

Forest Department and the NGO Wildlife 

SOS. 

• Situated on the banks of the Yamuna in 

Mathura, the new hydrotherapy jumbo 

pool is 11-foot-deep and has 21 high 

pressure jet sprays that create water 

pressure that massage the elephants’ 

feet and body and help in increasing 

blood circulation. 

52. Ans. D.  

Firewalls are frequently used to prevent 

unauthorized Internet users from 

accessing private networks connected 

to the Internet, especially intranets. 

53. Ans. C.  

Broadband is a wide bandwidth data 

transmission with an ability to 

simultaneously transport multiple signals 

and traffic types. The medium can be 

coaxial cable, optical fiber, radio or 

twisted pair. Dial-up Internet access is a 

form of Internet access that uses the 

facilities of the public switched telephone 

network (PSTN) to establish a connection 
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to an Internet service provider (ISP) 

by dialing a telephone number on a 

conventional telephone line. 

54. Ans. C.  

Function is a prerecorded formula that 

provides a shortcut for complex 

calculations 

55. Ans. D.  

A MIDI (Musical Instrument Digital 

Interface) interface is a device that 

provides MIDI In/Out to and from a 

computer or MIDI-equipped hardware via 

standard 5-pin MIDI jacks.  

56. Ans. A.  

A Compiler is a computer program 

translate source code from a high-level 

programming language to a lower level 

language (assembly language or machine 

code). 

57. Ans. A.  

A draft is simply an email message you 

haven’t yet sent. It’s not the same thing 

as an email waiting to be sent. This act 

places the message into the Drafts 

folder. 

58. Ans. B.  

The Domain Name System is used to 

translate Internet domain and host 

names to IP addresses. It uses a 

distributed database to store the 

combination of name and address 

information. 

Note: DNS converts the domain names 

we type in our Web browser address bar 

to the IP addresses with the help of a 

name server. 

59. Ans. A.  

Programmable Read-Only Memory 

(PROM) is a type of read-only memory 

that can be modified once by a user. 

Standard PROM can only be 

programmed once because PROM 

chips are manufactured with a series of 

fuses one programmed, it remains there 

forever 

60. Ans. B.  

A supercomputer is a computer with 

great speed and memory. This kind of 

computer can do jobs faster than any 

other computer of its generation. They 

are usually thousands of times faster 

than ordinary personal computers made 

at that time. 

61. Ans. A.  

• The base of the Octal Numeral System 

is 8. 

• Octal system uses digit from 0 to 7. 

• Octal numerals can be made from 

binary numerals by grouping consecutive 

binary digits into groups of three.
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